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Verbindungen in der Lewis-Schreibweise

1. Fillen Sie die Tabelle wie im gezeigten Beispiel aus.

Fluorwasserstoff - — H 0 1 1
H - Fl H—F
HF - Fl F 3 1 4
orom |Br- -Brl | Br — Br Br 3 1 4
r - — i —
Sauerstoff ~ VO VAN
o 0. (0 {o=0 0 2 2 4
Schwefelwasserstoff - - H 0 1 1
H- -S- H—S—H
58 — = S 2 2 4
Phosphortrichlorid | P L. a | | C_l - T —Ctl P 1 3 4
P ' - I cl 3 1 4
Schwefelkohlenstoff : Y Je o, N C 0 4 4
CS; C E \S =C= S/ S 2 2 4
| F | H 0 1 1
. — _ |
Trifluormethan H--C F IH—C—F| C 0 4 4
HCF; — — | —_
| FI F 3 1 4
Wasserstoffperoxid = == H 0 1 1
H,0, H- -0 H=0—-0—HF—;
H H
Hydrazin N- H \N— N N 1 3 4
NaH4 . H 7/ BN H H 0 1 1
H
| C 0 4 4
Methan -
-C- H H—C—H
CH .
' | H 0 1 1
H
H H
Ethen : N,/ C 0 4 4
CH ¢ +H =0
2 : H H H 0 1 1
Ethin : _ C 0 4 4
CH, C H H—C=C—H H 0 1 1
T H 0 1 1
Methanol - —
CH,0H He-C0 H— ‘|3 —0—H C 0 4 4
H 0 2 2 4
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